bre

Certificate of Approval
Certificate Number: RS0022 Issue: 10

Polyflor Ltd

having complied with the requirements of:

BES 6001: Issue 3.1

Framework Standard for Responsible Sourcing

has achieved a performance rating of: Excellent ****

and is authorised to use the BRE Global Certification Mark on the following product(s)
and associated stationery and publications.

Head Office Address Production Site(s)

Headquarters: See appendix for details
Radcliffe New Road

Whitefield

Manchester

M45 7NR

-

Laura Critien 10 February 2025
Signed for BRE Global Ltd Certification Manager Date of this Issue
21 October 2014 1 May 2025
Date of First Issue Expiry Date

This certificate and appendix remains the property of BRE Global Ltd and is issued

m’ subject to terms and conditions (for details visit www.greenbooklive.com/terms). Itis

maintained and held in force through annual review and verification. B Es 6001

To check the validity of this certificate and appendix please visit

%UA('_? www.greenbooklive.com/check or contact us. Responsible Sourcing
CERTIFICATION BRE Global Ltd., Garston, Watford WD25 9XX. bookli
0007 T: +44 (0)333 321 8811 F: +44 (0)1923 664603 E: Enquiries@breglobal.com www.greenbooklive.com
BF1003 Rev 3.1 Page 1 of 4 © BRE Global Ltd, 2025

109227



http://www.greenbooklive.com/terms
http://www.greenbooklive.com/check
mailto:Enquiries@breglobal.com

e

Appendix to Certificate No: RS0022 [ssue: 10
Polyflor Ltd

Production Site(s)

Headquarters: Riverside Flooring Ltd

Radcliffe New Road Fleck Way

Whitefield Thornaby on Tees

Manchester Stockton

M45 7NR TS17 9JT

Product Description Site

Classic Mystique PUR

Palettone PUR

Pearlazzo PUR

Prestige PUR Homogeneous Vinyl Flooring Radcliffe

Standard XL

XLPU

2000 PUR

Polysafe Astral PUR

Polysafe Quattro PUR

Polysafe Hydro

Polysafe Mosaic PUR

Resilient Flooring with enhanced slip resistance Radcliffe
Polysafe Standard PUR

Polysafe Verona

Polysafe Ultima

Polysafe Vogue Ultra

In accordance with the scheme requirements, you must notify us of any changes in circumstances so that we can
amend the Certification details.

Laura Critien 10 February 2025 21 October 2014 01 May 2025
For BRE Global Ltd Certification Manager Date of this Issue Date of First Issue Expiry Date
m This certificate and appendix remains the property of BRE Global Ltd and is issued
subject to terms and conditions (for details visit www.greenbooklive.com/terms). It is B Es 6001
maintained and held in force through annual review and verification.

To check the validity of this certificate and appendix please visit

%UAC;S www.greenbooklive.com/check or contact us. Respon5|ble Sourcing
CERTIFICATION .
0007 BRE Global Ltd., Garston, Watford WD25 9XX www.greenbooklive.com
T- 2AA IM222 221 QQ 11 E- 2AA INV1QI2 RRARN2 E: EnnaniriacMhraalahal ram
BF1003 Rev 3.1 Page 2 of 4 © BRE Global Ltd, 2025

J

109227


http://www.greenbooklive.com/

e

Appendix to Certificate No: RS0022

Polyflor Ltd

Product

Polysafe Hydro Evolve

’ Description ‘

Polysafe Apex

Resilient Flooring with enhanced slip resistance

Polysafe Ecomax

[ssue: 10

Site

Radcliffe

Forest fx PUR

Expona Flow PUR

Terrain fx PUR

Heterogenous vinyl flooring

Bloc PUR

Riverside

SILENTFLOR

Heterogenous foam-backed vinyl flooring

Riverside

Polysafe Wood fx PUR

Polysafe Stone fx PUR

Resilient Flooring with enhanced slip resistance

Polysafe Wood fx Acoustix
PUR

Riverside

Polyflor Secura

Designatex PUR

Heterogeneous Cushioned Vinyl Flooring

Riverside

In accordance with the scheme requirements, you must notify us of any changes in circumstances so that we can
amend the Certification details.

Laura Critien 10 February 2025 21 October 2014

01 May 2025

For BRE Global Ltd

oy

PRODUCT
CERTIFICATION
0007

BF1003 Rev 3.1

Certification Manager Date of this Issue Date of First Issue

This certificate and appendix remains the property of BRE Global Ltd and is issued
subject to terms and conditions (for details visit www.greenbooklive.com/terms). It is
maintained and held in force through annual review and verification.

To check the validity of this certificate and appendix please visit
www.greenbooklive.com/check or contact us.

BRE Global Ltd., Garston, Watford WD25 9XX

T- 2AA IM222 221 QQ 11 E- 2AA INV1QI2 RRARN2 E: EnnaniriacMhraalahal ram

Page 3 of 4

Expiry Date

BES 6001

Responsible Sourcing

www.greenbooklive.com

© BRE Global Ltd, 2025

J

109227


http://www.greenbooklive.com/

e

321

Scoring Table

Section

Responsible sourcing policy

Appendix to Certificate No: RS0022
Polyflor Ltd

3.2.2

Legal compliance

3.2.3

QMS and Operational Management of RS

3.24

Supplier management system

[ssue: 10

Additional
Credit

33.1

Material traceability through the supply chain

3.3.2

EMS in the supply chain

333

H&SMS in the supply chain

3.4.1

Greenhouse gas emissions

OO0 o0 oo o o e

3.4.2

Energy use

343

Resource use

34.4

Waste prevention and waste management

3.4.5

Water abstraction

34.6

Life Cycle Assessment (LCA)

O o000

3.4.7,

Ecotoxicity

3.4.8

Transport impacts

(@]

3.49

Employment and skills

(@]

3.4.10 Local communities

3.4.11 Business ethics

Key

C Compulsory

Points scored

Maximum score available per clause

Laura Critien 10 February 2025

21 October 2014

In accordance with the scheme requirements, you must notify us of any changes in circumstances so that we can
amend the Certification details.

01 May 2025

For BRE Global Ltd

oy

PRODUCT
CERTIFICATION

0007

BF1003 Rev 3.1

Certification Manager Date of this Issue

Date of First Issue

This certificate and appendix remains the property of BRE Global Ltd and is issued
subject to terms and conditions (for details visit www.greenbooklive.com/terms). It is
maintained and held in force through annual review and verification.

To check the validity of this certificate and appendix please visit
www.greenbooklive.com/check or contact us.

BRE Global Ltd., Garston, Watford WD25 9XX

T- 2AA IM222 221 QQ 11 E- 2AA INV1QI2 RRARN2 E: EnnaniriacMhraalahal ram

Page 4 of 4

Expiry Date

BES 6001

Responsible Sourcing

www.greenbooklive.com

BRE Global Ltd, 2025

J

109227


http://www.greenbooklive.com/

SCS Global Services does hereby certify that an independent assessment has been conducted on behalf of:

Polyflor

Radcliffe New Road, Whitefield, Manchester M45 7NR, United Kingdom

For the following product(s):

Sheet Vinyl: W ‘e,
Polyflor*: 2000 PUR, Classic Mystique PUR, Mystique PUR, Palettone PUR, Palettone SD, Pearlazzo PUR, 'Fl OO r'
Polyflor Finesse SD, Polyflor SD, Prestige PUR, Standard XL, XLPU

* Excludes all printed pattern products SCO re
Polysafe: Apex, Apex 55, Astral PUR, Corona PUR, Ecomax, Hydro, Hydro Evolve, Mosaic PUR, Quattro ’:,

PUR, QuickLay PUR, Standard PUR, Ultimate, Verona PUR, Vogue Ultra PUR, Voyager Transafe PUR o

. . e . . @gsckglelfgbngl Services
The product(s) meet(s) all of the necessary qualifications to be certified for the following claim(s):
FloorScore®

Indoor Air Quality Certified to SCS-105 v4.2 - December 2023. d

Conforms to the CDPH/EHLB Standard Method v1.2-2017 (California Section 01350), effective April 1, 2017, for AMAB

the school classroom and private office parameters when modeled as Flooring. R Y
ACCREDITED

Measured Concentration of Total Volatile Organic Compounds (TVOC): Less than/equal to 0.5 mg/m3 (in e I

compliance with CDPH/EHLB Standard Method v1.2-2017)

Registration # SCS-FS-02034
Valid from: September 01, 2024 to August 31, 2025

SCS Global Services is currently the only certification body approved by the Resilient Floor Covering Institute (RFCI) to provide
FloorScore® product certification; certified products are only listed on the SCS Green Products Guide,
http://www.scsglobalservices.com/certified-green-products-guide.

SC S IObO I Diana Kirsanova Phillips, Chief Assurance Officer,
SCS Global Services

SERNICES




Certificate

Indoor Air Comfort Gold

Homogeneous Flooring

Certified Product

James Halstead PLC

Applicant

The above product complies with the Indoor Air Comfort Gold specifications, version 8.0 (2022). These include both inspection of
factory production and VOC emissions testing according to EN 16516, at regular intervals. Indoor Air Comfort Gold combines all key
European and selected global requirements on VOC product emissions. Additional requirements not related to VOC product
emissions, for example content of certain substances or odour are not combined or evaluated. The following VOC emission
requirements are combined and the certified product shows compliance with these VOC emission related limit values:

- Belgian VOC regulation - LEED (ACP)

- France VOC class A+ - BREEAM New Construction
- Germany (AgBB/ABG) - WELL Building

- Italian CAM Edilizia - DGNB

- EU Taxonomy Regulation - SKA Rating

- French HQE certification

Issue date: 02 February 2023

Validity date: 02 February 2028

This certificate is valid as specified if regular surveillance and testing is done.

I

Thomas Neuhaus, Head of Certification Body

- Blue Angel DE-UZ 120

- Austrian Ecolabel UZ 42 - Eco Product Norway

- Austrian Baubook - Cradle to Cradle

- M1 - very low emitting products

- Danish Indoor Climate Label according to EN 16798-1
(Emission Class 1) - Singapore Green Label

- BVB (Sweden) - Global GreenTag

- Miljébyggnad (Sweden)

- Nordic Swan

Product type: Resilient floorings

Certificate number: [IACG-386-101-01-2022

&% eurofins
Product Testing



Appendix to Certificate IACG-386-101-01-2022

James Halstead PLC

receives the Indoor Air Comfort Gold certificate with validity 02 February 2028

for below product group, including subgroups and individual products as listed:

Product group: Homogeneous Flooring

Product type: Resilient floorings

Products included:

Polyflor Palettone PUR
Polyflor Prestige PUR
Polyflor Pearlazzo PUR
Polyflor Classic Mystique PUR
Polyflor Mystique PUR
Polyflor 2000 PUR
Polyflor XLPU

Polyflor XLPUR
Polyflor XL

Polyflex Plus PU
Polysafe Ecomax

The products in this group are based on identical or similar recipe and are produced under equivalent
conditions. Grouping of the products and inspection of the production process is part of the Indoor Air
Comfort Gold certification. A worst-case product, which is representative for the whole group, is being
tested frequently.

&% eurofins
Product Testing



REPUBLICA FEBTWA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Piablica Juramentada
Registro: 532 - J.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parana — Brasil
Telefone: (41) 988072708 E-maik tradutorapublica@gmail.com
OAB/PR: 35.054 CPFIMF: 662.455.589-87

Tradugio: 08

Documento: Relatério de Ensaio
Arquivo: L. 429, fis. 45

ldioma a Traduzir: Inglés

Data: 24 de marco de 2025

Andréa de Macedo Valério, Intérprete Comercial e Tradutora Pablica matriculada e
juramentada na Meritissima Junia Comercial do Estado do Parana traduziu, em razio de
seu oficio, o documento supracitado e escrito no idioma mencionado, cuja traducgdo éa
seguinte:

Ensaio ASTM E 662 de Taxa de Emissio de Fumaca de
“Polyflor Palettone PUR”

Um Relatério Para: Polyflor Ltd.
Radcliffe New Road
Whitefield, Manchester M45 7N5
United Kingdom (Reino Unido)

Fone: +44 0161 767 1111
Atencdo: Graham King
E-mail; gking@polyflor.com
Submetido por: Element Fire Testing
Relatorio No: 22-002-019(A)

4 Péginas + Anexo

Data: 10 de fevereiro de 2022




"p

REPUBLICA FEDERATWA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Pablica Juramentada
Registro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parana — Brasit
Telefone: (41) 988072708 E-mail: tradutorapublica@gmail.com

OAB/PR: 35.054 CPFIMF: 662.455.599-87
Traducao: (8
Arquivo: L. 429, fis. 46 Documento: Relatério de Ensaio
idioma a Traduzir: Inglés Continuagéo

Data: 24 de margo de 2025

1.0 RECONHECIMENTO .
ISONEC 17025 para um Escopo de Ensaio definido pela Associagio Americana de Reconhecimenio de Laboratérios (A2LA)

2.0. ESPECIFICAGOES DO PEDIDO
Determinar a taxa de emisséo de fumaga segundo ASTM E 662-21a¢!, segundo o Pedido de Compra de referéncia da Polyflor Ltd.
No 2259607 e Orgamento Element No 22-002-321637 RV1 aceifos em 12 de janeiro de 2022.

2.1. Histérico de Revisdo
Este & o original.

3.0 IDENTIFICACAO DA AMOSTRA Ntimero de identificago Element da amostra; 22-002-S0019-1

O material de cobertura resiliente de piso, descrito como “Revestimento de vinil ndo direcional homogéneo para trafego pesado e
piso com reforgo de superficie de poliurstano. Tom: 8645 Sahara Storm {Tempestade no Sahara)” e identifi cadﬁ como: “Polyflor
Palstione PUR

4.0 PREPARO DA AMOSTRA
O material de piso de 2mm de espessura foi aderido (pela Element) a um substrato de placa cimenticia reforgada de 6 mm de
espessura utilizando um adssivo acrilico & base de agua e ficou curando por um periodo minimo de 24 horas antes do ensaio.

5.0 CONDICIONAMENT

Antes do ensaio, as amostras de ensaio séo pré-secas em um forno por um periodo de 24 horas a 140 + 5°F {60 + 3°C).

As amostras s&o, entfo, fransferidas para um aposento condicionado mantido a 50 + 5% de umidade relativa e 73 + 5% (23 + 3°C)
até afingir o equiiibrio.

6.0 REQUISITOS DE DESEMPENHO TIPICOS ’
Para materiais de piso, muitas autoridades com competéneia legal estabelecem um critério de Densidade Opfica Especifica (Dn
(corr}) de média maxima corrigida de 450 apenas no Modo Flamejante.

7.0 RESUMO DE RESULTADOS DO ENSAIO

identificacio da Amostra “Polyfior Palettone PUR”
Resuitado ASTM E 662 Aprovado
Dm (corr) Média Modo Flamejante 400 | Modo Nao-flamejante 376

7.1 Observagdes do Ensaio
No modo flamejante, a ignigéo no ponto de impingimento da chama aumentando para ignig&o total em 40 ssgundos. Tambem foram
observadas fumaca visivel e carbonizago da superficie. No modo néio-flamejante, foram observados pmdﬂgao mswei defuma:;a
bothas e descoloragio da superficie, aberiura e mmgamenta & infumescimento, / o~




o

REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Piblica Juramentada
Registro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 806730-000 — Curitiba — Parana — Brasil
Teiefone: (41) 888072708 E-mail: tradutorapublica@gmail.com

OABIPR: 35.054 CPF/MF: 662.455.599-87
Traducao: 08
Arquivo: L. 429, fis. 47 Documento: Relatério de Ensaio
Idioma a Traduzir: Inglés Continuagdo
Data: 24 de marco de 2025

Grafico 1. Modo Flamejante ASTM E 662-21 a°!

800

Densidade Optica especifica

&
-
o
=4}
#
i

2 4 & 8 10 12

Tempo em Minulos

Espessura: 2 mm | UR Ambients: 20% Temp. Parede da Camara’35°C | Durago dos Ensaios: 20 min.

Modo Flamejante Ensaio Ne 1 Ne2 Ne3 fédia Maximo Resultado

. Espegcificado
Densidade Opfica Especifica a 1,5 minutos (D 15 66 66 55 62 -

Densidade Optica Especifica a 4 minutos {Ds 4,0) 183 | 32 255 253 . =

Densidade Optica Especifica Média (Dw) 378 376 470 408 - -
Densidade Optica Méxima Corrigida (Ds {cort}) 367 372 460 400 450 Aprovado
Grafico 2. Modo Hao-Flamejante
80X
S 600 r -
g
3
hg . {
= : s s
~o i
3
8 2
o3
5
o
g = & T‘%'empo em i\;liﬁuts}s ki : 5 N i
Espessura 2 mm I UR Ambiente: 20% Temp. Parede da Camara’35°C | Duragéio dos Ensaios.28-mif..
Modo Flamsjante Ensaio Neti | Ne2 | Ne3 | Média Maximo /Resuliafio -
, Especificado | /. & Y, N\
Densidade Optica Especifica a 1,5 minutos (Ds 1,5} 2 1 2 2 : Y7 of] V&)
Densidade Optica Especifica a 4 minutos {Ds 4,0) 172 182 156 170 - | <
Densidade Optica Especifica Média (D} 378 387 38 383 - /
Densidade Optica Méxima Corrigida (D [coim}) 371 378 373 376 -




REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VAL ERIO

Tradutora Phblica Juramentada
Registro: 532 - J.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parana — Brasil
Telefone: {41} 988072708 E-mail: tradutorapublica@gmail.com

OAB/PR: 35.054 CPFMF: 862.455.509-87
Traducao: 08
Arquivo: L. 429, fls. 48 Documento: Relatério de Ensaio
ldioma a Traduzir: Inglés Continuagio
Data: 24 de marcgo de 2025

9.0, CONCLUSOES ,
O material de piso resilients idenfificado neste felatéric observa o critério de Densidade Optica Especifica Maxima Corrigida
média de 450 no Modo Flamejante, conforme determinado por muitas autoridades com competéncia legal.

{assinatura constante) (assinatura constante)

Mel Garees, lan Smith,

Tecnologista Sénior Gerente Técnico

Observagdo: Este relatério refere-se apenas & amostra identificada e néo deve ser reproduzido, excelo em sua totalidade. sem aprovacio. Esté coberto

pelos Termos e Condicdes Padréo de Confrafo da Element Materials Technology Canada Inc., disponivel em v 011 ot pela

tefefone 1-666-263-9268. As feifuras diretas formam a base de aceitacio ou rejeicdo (aprovado/reprovado) e néo levam em conta ou

incorporam a incerteza.




REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Pablica Juramentada
Registro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 - Curitiba — Parana — Brasil
Telefone: (41) 988072708 E-mail: tradutorapublica@gmail.com

OAB/PR: 35.054 CPFMF: 8662.455.599-87
Traducgéo: 08
Arqguivo: L. 429, fls, 49 Documento: Relatério de Ensaio :
idioma a Traduzir: Inglés Continuagao

Data: 24 de marco de 2025

AL ANEXC

A1 Resumo do Procedimento de Ensaio ASTM E 862

Este método de ensaio abrange um procedimento para medir a a taxa de fumaga emitida por materiais solidos e
montagens em espessuras de até 1 polegada (25,4 mm), inclusive. E feita a medida da atenuagéo de um raio de luz por
fumaga {particulas suspensas sblidas ou liquidas) acumulando-se dentro de uma cmara fechada devido a combustio
flamejante e decomposigdo pirofitica ndo flamejante. Os resultados sfio expressos em termos de densidade optica
especifica {Ds), que & derivada de um fator geométrico & da densidade optica medida {absorbancia).

Trés amostras, 3 polegadas (76 mm) guadradas so expostas a cada modo de combustdo. Apbs um pericdo de
aquecimento e antes do inicio de cada ensaio, a temperatura da parede da camara ¢ estabelecida na variacdo de 94 +
4°F (35 +2°C).

Denfre os parémefros normaimente reportados estio:

Ds15 =  densidade dpfica especifica méxima apds 1,5 minutos
D:40 =  densidads dptica especifica maxima apds 4,0 minutos
Dm = densidade éptica especifica maxima a qualquer tempo durante o ensaio de 20 minutos
Dm(corr) =  Dwcorrigida para depésitos incidentais sobre as superficies opticas

A2 Calculos
L registrada a transmisséo percentual de luz durante o curso da combustéo. Esses dados sfo usados para expressar a

quantidade de fumaga em forma de densidade dpfica sspecifica (Ds) com base na seguinte formula, a qual assume a
aplicabilidade da lei de Bouguer:

D «= G flogn{166/) + F]
Onde: D= densidade plica especifica
G = VIAL {fator geométrico)
T =transmiténcia percentual da luz, conforme lida a partir da célula fotovoltaica
V = volume da clmara fechada (pé? ou m?3)
A = &rea exposta da amostra {pé? ou m2)
L = comprimento do caminho da luz através da fumaga na cdmara {pés ou metros)
F = Se o fillro esté no lugar em T, F = 0; se o filtro for removido no tempo 7, 'F = a densidade
optica conhecida do filtro e T & uma transmiténcia percentual aparentfe

POR SERESTAA TRAD[JQAO DO DOCUMENTO ORIGINAL,
AQUI ASSINO COM FE PUBLICA, INERENTE AO MEU OFICIO.

Py T A P

7 Aﬁdrea de Macedo Valério

Fradutora Piblica Juramentada




REPUBLICA FEDERATIVA DO BRASIL

i < ANDREA DE MACEDO VALERIO
- Tradutora Pdablica Juramentada
-/ Registro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parand — Brasil
Telefone: (41} 988072708 E-mail: tradutorapublica@gmail.com
OABIPR: 35.054 CPFAF: 662455 598-87

Tradugao: 07

Documento: Relatorio de Ensaio
Arquivo: L. 428, fis. 38

ldioma a Traduzir: Inglés

Data: 24 de marco de 2025

Andréa de Macedo Valério, Intérprete Comercial e Tradutora Pablica matriculada e
ijuramentadsa na Meritissima Junta Comercial do Esiado do Parana traduziu, em razdo de
seu oficio, o documento supracitado e escrito no idioma mencionado, cuja tradugfo é a
seguinte:

TESTING » CERTIFILATION « AUDITING
ENSAIOS @ CERTIFICACAD o AUDITORIA

Relatorio Confidencial

Nossa Ref: 26/03410A/11/24




REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Pdablica Juramentada

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parana — Bras#
Telefone: (41] 988072708 E-mail: tradutorapublica@gmail.com

OABIPR: 35054 CPF/NIF: 862455 599-87
Tradugao: 07
Arquivo: L. 429, fis. 39 Documento: Relatério de Ensaio
idioma a Traduzir: Ingiés
Data: 24 de marco de 2025 Continuagéo

Wira House, West Park Ring Road, Leeds, L8316 601, UK.
Telefone: +44 {0} 113 250 1999
E-mail: onetopshop@btis.co.uk

Website: www.btiz.cofuk

Data: 02 de novembro de 2024

Nossa Ref: 26/03410A/11/24
Sua Ref:
TESTING « CERTIFICATION « AUDITING
Pégina: ided
Cliente: Polyflor Ltd
PO Box 3
Radcliffe New Road
Whitefield
Manchester
M45 7TMR
Titulo do Trabalho: Ensaio de Fogo em Uma Amostra de Piso
Ref. do Pedido do Cliente: 2278440
Data do recebimento: 18 de novembro de 2024
Descricdo da Amostra: Uma amostra de piso, referenciada: Polyflor Paletione PUR,

Espessura Nominal: 2,0mm, Peso Por Area Unitéria: 2,80 kg/m?,
Lote N° 77578, Tom: 8613 Faded Denim {Jeans Deshotado).

Trabatho Solicitado: Fomos solicitados para fazer o seguinte ensaio:

AS |50 9239-1:2003

ensaio terceirizado, reconhecido pelo UKAS (Servigo de Reconhecimento do Reino Unido)
ensaio terceirizado, reconhecido pela norma EN ISO/IEC 17025
n3o reconhecido pelo UKAS {Servico de Reconhecimento do Reino Unido)

Observagio: Este ensaio refere-se apenas aos itens festados.

Shirley? Technologies Limited. Sede: Wira House, West Park Ring fioad, Leeds, 1516 60y
Uma empresa registrada na inglaterra e no Palsde Gales sob o nimero corporative 04669651, Numero Fiscal GB 8167648
BTTG™ & Shirley® sio nomes comerciais de Shisley Technologiesftd 2!
T forrecimento de todos os produtos ¢ senvicos estd sujeflo 203 nossos termos padric de neglcios, cujas coplas eﬁramr,{'n»se f
disponiveis mediante solicitacs
Kessos aboratdrios sio reconhetidos pela norma EN ISOAIEC 1302

Copyright © 2024 Shiskey Technalogies Uraited. Todos s direlfos ue@erﬁs;ig(}s.
L

NG5

Ny,



REPUBLICA FEBTWA DO BRASIL

ANDREA DE MACEDO VALERIO

Tradutora Pablica Juramentada
Registre: 532 - §.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 86730-000 — Curitiba — Parana — Brasit
Telefone: {41} 988072708 E-mail: tradutorapublica@gmail.com

CAB/PR: 35.054 CPHF: 662.455.509-87
Traducao: 07
Arquivo: L. 429, fis. 40 Documento: Relatério de Ensaio
idioma a Traduzir: Inglés Continuagio

Data: 24 de margo de 2025

Wira House, West Park Ring Road, Leeds, 1516 801, UK.
Telefone: +44 {0} 113 259 1999
E-mail: onetopshop@btig.co.uk

Website: www.bttg.cofuk

Data: 09 de novembro de 2024

Nossa Ref: 26/034104711/24
Sua Ref:
TESTING « CERTINICATION » AUDITING
Pagina: 2deé6

Cliente: Polyfior Lid

Folha de Descrigcdo do Produto
{conforme fornecido pelo cliente)

Nome efou Identificac3o do Produto Testado Polyflor Palettone PUR
Construcdo Calandrado
Composi¢c3o Geral PVC Homogéneo
Massa por Area Unitaria {(g/m?) 2800
Espessura Total (mm) 2.0
Espessura da Camada de Desgaste {mm) N/A
Compaosicdo do Revestimento PU

Aditivos Retardantes de Fogo? Ni3o

Hossos laboratérios s3o reconheddos pel

Copyright © 2024 shirley Technologies Limited. Todos os diveitos reservados




REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO
Tradutora Pablica Juramentada
Registro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apte. 1202 — CEP 80730-000 — Curitiba — Parana — Brasi!
Telefoner (41) 9BB072Z708 E-mail: tradutorapublica@gmail.com

OAB/PR: 35.054 CPF/MF: 662.455.598-87
Traduggo: 07
Arquivo: L. 429, fls. 41 Documento: Relatério de Ensaio
idioma a Traduzir: Inglés Continuagdo
Data: 24 de marcgo de 2025

YWira House, West Park Ring Road, Leeds, LS16 801, UK
Telefone: +44 (0} 113 259 1999
E-mail: onetopshop@®btis.co.uk

Website: www.btig.cofuk

Data: 09 de novembro de 2024

Nossa Ref: 26/03410A111/24
Sua Ref:
TESTING « CERTWICATION « SUDITING
Pégina: 3de6

Cliente: Polyflor Ltd

ENSAIOS DE FOGO SEGUNDO A NORMA 1S0 9239-1:2003

Reacdo a ensaios de fogo para Pisos - Parte 1: Determinacio do comportamento de queima
usando uma fonte radiante de calor (IS0 9239-1:2002)

Data do Ensaio: 05/12/24

Acondicionamento

As amaostras foram acondicionadas segundo a norma BS EN 13238:2010. O substrato usado foi uma placa cimenticia
{ISO 390} com espessura de {6+1}mm e densidade de {1.800+200)Kg/m? representando o substrato padrio Alf] ou
A1l

Método de Montagem

As amostras de cobertura de piso foram testadas aderidas a uma placa cimenticia de base de 6mm, conforme definido
na norma BS EN 13238:2010 usando adesivo Styccobond F44.

Procedimento

O ensaio foi conduzido segundo a norma AS 150 9239-1:2003. O. cliente cortou as amostras nas dimensdes
declaradas.

As amostras foram colocadas individualmente na camara de combust8o ou pré-aquecidas por dois minutos sob um
painel radiante, o que dé um fluxo radiante imposto variando entre aproximadamente 11,0 KW/m? e 1,0 kW/m2 a0
longo da amosira.

A chama piloto usada foi o queimador em linha conforme descrito e foi aplicada a superficie da amostra por 10
minutos e depaois removida.

A frente da chama foi medida ac final do ensaio ou a 30 minutos, se aplicdvel.

O encerramento do ensaio foi considerado como sendo quando a frente da chama se extinguisse ou aos 30 minutos,
o que ocorresse antes.

O fluxo de valor do painel incidente na amostra quando auto extinguido ou em 30 minutos {fluxo critico de calor FCC
ou FC-30} foi calculado a partir de uma calibragem anterior.




REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Pablica Juramentada
Regisiro: 532 - 4.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba - Parana — Brasil
Telefone: (41} 988072708 E-mail: tradutorapublica@gmail.com
OABIPR: 35.054 CPFAMF. 862.455.599-87
Traducéao: 07
Arquivo: L. 429, fis. 42 Documento: Relatdrio de Ensaio
idioma a Traduzir: Inglés Continuagio
Data: 24 de marcgo de 2025

Wira House, West Park Ring Road, Leads, 1516 601, UK.
Telefone: +44 {0} 113 259 1299

E-mail: onetopshop@btis.co.uk

Website: www.btiz.cofuk

Data: 09 de novembro de 2024

Nossa Ref: 26/03410Af11/24
Sua Ref:
TESTING » LERTWIATION « AUDITING
Pégina: ddet
Cliente: Polyflor Ltd
Resultados

Os resultados do ensaio refacionam-se com o comportamento das amostras do ensaio sob as condicdes especificas
do ensaio; ndo pretendem ser o Gnico critério para avaliar o risco total de potencial de fogo dos materiais em uso.

Neda Direcdo Obscurecimento/ Frente Maxima  Fluxo de Calor Duracéo
amostra da Desenvolvimento da da Chama Calor-30  Critico/Fluxo da
amostra Fumaca {mm} {FC-30} Radiante Chama
% max % % min (KW/m? {FCC/FCR) {seg}
A 2
1 Méquina o2 253 101 11,1 111 720
2 Através 99 237 85 >11,1 >11,1 736
3 Maguina 92 250 80 >11,1 >11,1 735
4 Maguina 97 235 g1 >11,1 >11,1 721
Mediade3  \osuina 94 246 91 >11,1 >11,1 725
amostras
Distancia Tempo de queima de cada amostra
Queimada {mm) 1 2] 3 4
50 240 300 221 205
100 272
Observacéo

Foi testada, inicialmente, uma amostra em cada direcdo e, na direcdo em gue foi produzido o pior resultado, mais

duas amostras foram testadas. Apenas os resultados das 3 amostras na mesma diregio foram usados pata caicuia/pﬁj”jﬁ
os resuitados médios. j{ .
;

g Shirkey® Technobgis
Uma empresa registrada na Inglatera e no Pais de Ga

T fornecimento de todos os produtos & seivicos estd sujeito a

Massos lab

Cogyright fes Limiled. Todos osdireltos resenados,



REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO

Tradutora Pihblica Juramentada
Registro: 532 - J.C.P.

Rua Padre Anchieta 2177, apto. 1202 — CEP 80730-000 — Curitiba - Parand — Brasil
Telefone: (413 988072708 E-mail: tradutorapublica@gmail.com

OABIPR: 35054 CPFMF: 662.455.598-87
Tradugio: 07
Arquivo: L. 429, fis. 43 Documento: Relatério de Ensaio
idioma a Traduzir: Inglés Continuagéo
Data: 24 de margo de 2025

Wira House, West Park Ring Road, Leeds, LS16 601, UK.
Telefone: +44 (0} 113 259 1999
E-mail: onetopshop@bite.co.uk

Website: www.bttg.cofuk

Data: 09 de novembro de 2024

Nossa Ref: 26/03410A/11/24
Sua Ref:
TESTING =« CERTIFIATION = ALUDITING
Pagina: 5deé

Cliente: Polyflor Ltd

Onde necesséric opinar sobre quaisquer critérios de aprovaciofreprovacio, foi levada em conta uma estimativa de
incerteza de medida. Segundo nossa Politica, utilizamos uma regra nfo-binéria de deciso.

Para maiores informacBes, veja nossa Politica de regras de decis8o (hitps//www.bttg.co.uk/about-us/decision-rules-
policyl.

Relatado por: {gssingtura constante)  B. Marsden (Sra), Técnica Sénior de Laboratério

Assinado por: {gssingturg constante]  A. Shute Chefe de Secio

Perguntas referentes a este relatdrio deverfio ser enderecadas a Servicos ao Consumidor.

d

HAS Hossos laboratérios s3o reconhiecidos pe BN ISG/IEC 171

Copyright © 2024 Shisley Technologies Limited. Todos os direftos reservados.
1088



REPUBLICA FEDERATIVA DO BRASIL
ANDREA DE MACEDO VALERIO
Tradutora Pablica Juramentada
Registro: 532 - 4.C.P.

Rua Padre Anchista 2177, apto. 1202 — CEP 80730-000 — Curitiba — Parana — Brasil
Telefone: (41) 988072708  E-maik: tradutorapublica@gmail.com
OABIPR: 35.054 CPFMF: 662.455.599-87

Tradugao: 07

Arquivo: L. 428, fis. 44
idioma a Traduzir: Inglés
Data: 24 de marcgo de 2025

Documento: Relaldrio de Ensaio
Continuacgéo

Wira House, West Park Ring Road, Leeds, LS16 601, UK.
Telefone: +44 {0} 113 258 1899

Email: onetopshop@bits.co.uk

Website: www.bttg.cofuk

Data: 09 de novembro de 2024

Nossa Ref: 26/03410A/11/24
Sua Ref:
TESTING » CERTIFICATION » AUGITING
Pégina: 6deb
Cliente: Polyflor Ltd
Orcamento de Incerteza

O orcamento de incerteza para AS 180 9239-1: 2010 foi determinado conforme se segue:

Geral

A incerteza varia pelo comprimento do painel, portanto:

a} Na posic3o entre 0 - 450mm +7%
b) Na posicgo entre 450mm - 1000mm +8%
Obscurecimento de Fumaca +15%

Shirley® Technologi
tma empresa registiada na inglatersa e no Pais de Gales

Limited. Sede: Wir

Vest Park Ring Road, teeds, 1516 6QL.
59651, Nimmero Fiscal GB 816764800,
omes comerciais de S

(

/) ey

Andréa de Macedo Valdrio
Fradutora Piblica Juramentada




LEED® Points

Polyflor Palettone PUR

Category Points

Materials & Resources

MR Credit: Building Product Disclosure and Optimisation 0.5
— Environmental Product Declarations
Generic EPD available

MR Credit: Building Product Disclosure and Optimisation 1
— Sourcing of Raw Materials (Recycled Content)
20% post production (pre-consumer) & 5% post-consumer recycled content

MR Credit: Building Product Disclosure and Optimisation 1
— Sourcing of Raw Materials (Bio-based Content)
63% natural content; 2% rapidly renewable: Phthalate free with bio-based content

MR Credit: Construction and Demolition Waste 1-2
Management
100% recyclable. 50% of all waste recycled = 1 point; 75% of waste recycled = 2 points

Indoor Environmental Quality

EQ Credit: Low Emitting Materials — Option 1, Product
Calculation CDPH Compliant & Option 2, Budget
Calculation CDPH Compliant

FloorScore® and Indoor Air Comfort Gold certified

POL?FLD ="

COVERING THE WORLD



ENVIRONMENTAL PRODUCT DECLARATION

as per ISO 14025 and EN 15804+A2

Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor
Pearlazzo PUR

James Halstead plic

Instltut Bauen
und Umwelt eV.

&

ECO PLATFORM

VERIFIED




HomerSHetitead

JAMES HALSTEAD PLC

General Information

James Halstead plc

Polyflor Palettone PUR, Polyflor Prestige PUR and
Polyflor Pearlazzo PUR

Programme holder

IBU — Institut Bauen und Umwelt e.V.
Hegelplatz 1

10117 Berlin

Germany

Owner of the declaration

James Halstead PLC
Beechfield, Hollinhurst Rd. .
M261JN Whitefield, Manchester
United Kingdom

Declaration number
EPD-JHA-20250111-CBA1-EN

Declared product / declared unit

1 m2 of installed Polyflor Palettone PUR, Prestige PUR or Pearlazzo PUR
floor covering.

This declaration is based on the product category rules:

Floor coverings, 01.08.2021
(PCR checked and approved by the SVR)

Issue date
13.02.2025

Valid to
12.02.2030

S 124

Dipl.-Ing. Hans Peters
(Chairman of Institut Bauen und Umwelt e.V.)

Scope:

Polyflor Palettone PUR, Prestige PUR and Pearlazzo PUR from James
Halstead plc, Manchester, UK. The declaration refers to a decorative
homogeneous floor covering of thickness 2.0mm. The product is
manufactured in Manchester, UK.

The results in this core-EPD were calculated using an LCA tool verified by
IBU in 2024.

The owner of the declaration shall be liable for the underlying information
and evidence; the IBU shall not be liable with respect to manufacturer
information, life cycle assessment data and evidences.

The EPD was created according to the specifications of EN 15804+A2. In
the following, the standard will be simplified as EN 15804.

Verification

The standard EN 15804 serves as the core PCR

Independent verification of the declaration and data according to ISO
14025:2011

] internally externally

R

Florian Pronold
(Managing Director Institut Bauen und Umwelt e.V.)

Ms Emma Wilde,
(Independent verifier)

Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR



HamiFpttiad

JAMES HALSTEAD PLC

Product description/Product definition

Polyflor Palettone PUR, Prestige PUR and Pearlazzo PUR
decorative vinyl sheet and tile floor covering of 2.0 mm
thickness, manufactured in accordance with ISO 10581. The
uppermost surface features a PUR reinforcement that protects
the floor covering by resisting soiling and scuffing.

For the placing on the market of the product in the European
Union/European Free Trade Association (EU/EFTA) (with the
exception of Switzerland) Regulation (EU) No. 305/2011 (CPR)
applies. The product needs a declaration of performance taking
into consideration EN 14041:2018 Resilient, textile, laminate
and modular multilayer floor coverings. Essential
characteristics, and the CE Marking.

For the application and use the respective national provisions
apply.

CE Declarations of Performance are available at
www.polyflor.com or www.objectflor.de.

Application

Polyflor Palettone PUR, Prestige PUR and Pearlazzo PUR are
attractive, high performance flexible vinyl sheets of mono-layer
construction with a non-directional decoration, in a broad
palette of colours. A low maintenance, hygienic flooring
solution, suitable for the demanding healthcare sector,
education, retail office and other commercial interiors. Polyflor
Palettone PUR, Prestige PUR and Pearlazzo PUR are
classified as 23,34,43 according to ISO 10874.

Example of a use area: Polyflor Prestige PUR

N 2

~

Technical Data
Product standards:

* ISO 10581 Resilient floor coverings - Homogeneous

poly(vinyl chloride) floor covering - Specifications (Type |

Binder content)

¢ ISO 10874 Resilient, textile and laminate floor
coverings - Classification

e EN13501-1 Fire classification of construction products
and building elements - Classification using data from
reaction to fire tests

* EN13893 Resilient, laminate and textile floor coverings.
Measurement of dynamic coefficient of friction on dry
floor surfaces

* EN1815 Resilient and laminate floor coverings.
Assessment of static electrical propensity

Polyflor Palettone PUR, Pearlazzo PUR and Prestige
PUR are classified as Bg-s1 according to EN 13501-1

Fire classification of construction products and building
elements.

Technical data sheets are available at www.polyflor.com
or www.objectflor.de.

Constructional data

Name Value Unit
Product thickness 2 mm
Grammage 2950 g/m?2
Abrasion Class Type | -
Product Form Sheet & Tile -
Type of manufacture Extrusion & Pressing -
Density 1400 kg/m3

Performance data of the product in accordance with the
declaration of performance with respect to its essential
characteristics according to EN 14041:2018 Resilient, textile,
laminate and modular multilayer floor coverings. Essential
characteristics.

Example of a use area: Polyflor Pearlazzo PUR

2 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR


http://www.objectflor.de

HomerSHetitead

JAMES HALSTEAD PLC

Base materials/Ancillary materials

Name Value Unit
Polyvinyl Chloride 45-47 %
Plasticiser 15-17 %
Mineral Fillers 31-33 %
Titanium Dioxide 1-3 %
Epoxidised Ester Blend 1-3 %
Stabiliser <1 %
Pigments <1 %
Additives <1 %
Polyurethane Coating <1 %

The floor coverings can contain up to 25% of recycled material
of the same formulation/ingredients which can consist of either
or both of post industrial and post consumer material.

1) "This product/article/at least one partial article contains
substances listed in the candidate list (date: 07/11/2024)
exceeding 0.1 percentage by mass: no".

2) "This product contains other CMR substances in categories
1A or 1B which are not on the candidate list, exceeding 0.1
percentage by mass: no".

3) "Biocide products were added to this construction product or

LCA: Calculation rules

Declared Unit

This declaration refers to a declared unit of 1 m2 of installed
Polyflor Palettone PUR, Pearlazzo PUR or Prestige PUR floor
covering.

Declared unit and mass reference

Name Value Unit
Declared unit 1 m2
Grammage 2.98 kg/m2
Layer thickness 0.002 m

The EPD results are calculated based on the measured weight
of the declared floor covering provided in the table directly
above. The grammage provided is the "construction data" table
is the nominal weight for the declared product, which refers to
the average/marketed weight.

System boundary

The type of EPD according to EN 15804: "cradle to gate with
options, modules C1-C4, and module D". The following
modules are declared: A1-A3, C, D and additional modules: A4,
A5, and B2.

The following life cycle stages are considered:

Production - Modules A1-A3
The product stage includes:

¢ Raw material supply (A1): raw material extraction and
processing including recycled content.

» Transport to the manufacturer (A2):

¢ Manufacturing (A3): manufacturing expenses of the
products including packaging materials and
consumption of electricity (0.39 kgCO,eq./kWh) and
thermal energy (0.064 kgCO,eq./MJ).

* The product is manufactured in Manchester, UK.

Construction Stage - Modules A4-A5
The construction process stage includes:

it has been treated with biocide products (this then concerns a
treated product as defined by the (EU) Ordinance on Biocide
Products No. 528/2012): no".

Period Under Review
The data collection period for the LCA calculation was
01/07/2023 to 30/06/2024.

Reference service life
For this product, the stated Reference Service Life (RSL) is 1
year.

James Halstead plc recommend a service life of 30 years,
which is based on their experience of flooring manufacture and
supply. The recommended service life is applicable as long as
the product use complies with that defined by EN 14041 and
ISO 10874 in accordance with the Polyflor Palettone PUR,
Prestige PUR and Pearlazzo PUR use classification (class 23,
34 and 43).

It should be noted, however, that the service life of a
Homogeneous Polyvinyl chloride floor covering may vary
depending on the amount & nature of floor traffic, the type &
frequency of maintenance, and misuse of the product.
Therefore, the RSL is stated as 1 year to allow the effects of
maintenance (B2) to be calculated as required for the products
anticipated useful life.

e Transport to the construction site (A4).

* Production and treatment of generated cutting waste at
the installation and packaging material (A5). Benefits of
potential avoided burdens due to energy substitution of
electricity and thermal energy are declared in module D.
It also includes the consumption of adhesive during
installation.

Use Stage - Module B2
The Use stage includes:

¢ Maintenance (B2): detergents, water and electricity
consumption.

» Data averaged for standard combination of 80% manual
cleaning and 20% electric cleaning.

End-of-Life (EOL) Stage - Modules C1-C4

* Mechanical dismantling with electricity consumption
(C1).

» Transport to EoL (C2): 25 km distance travelled via truck
transport.

* EoL Scenario 0 (C3): 100% thermal treatment of the
floor covering with energy recovery (including auxiliaries
at installation).

* EoL Scenario 1 (C3/1): 100% recycling of the floor
covering (including auxiliaries at installation).

e EoL Scenario 2 (C4): 100% landfill of the floor covering
(including auxiliaries at installation).

Benefits and Loads beyond the product system boundary
Benefits for potential avoided burdens during treatment of
packaging materials, installation cuttings and/or auxiliaries
(from module A5) due to energy substitution of electricity and
thermal energy generation and/or material recycling under
European condition are declared in Module D (duplicated in D,
D/1 and D/2, respectively).

3 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR



HomerSHetitead

JAMES HALSTEAD PLC

Geographic Representativeness

Land or region, in which the declared product system is
manufactured, used or handled at the end of the product’s
lifespan: Europe

Comparability

Basically, a comparison or an evaluation of EPD data is only
possible if all the data sets to be compared were created
according to EN 15804 and the building context, respectively
the product-specific characteristics of performance, are taken
into account. Sphera LCA software (GaBi ts) content update
package (CUP) version 2023.2.

LCA: Scenarios and additional technical information

Characteristic product properties of biogenic carbon

For 1 m2 of Polyflor Palettone PUR, Polyflor Prestige PUR and
Polyflor Pearlazzo PUR floor coverings, the biogenic carbon
content is declared below:

Information on describing the biogenic carbon content at
factory gate

Name Value |Unit
Biogenic carbon content in product 0.0592 ké’
Biogenic carbon content in accompanying 0.0416 kg
packaging ) C

Note: 1 kg of biogenic carbon is equivalent to 44/12 kg of CO..

Transport to the construction site (A4)

This declaration considers the transport of the floor covering
product from the factory gate to an average European customer
site calculated from a combination of haulier routes via truck,
rail, and ship transport in module A4.

Name Value | Unit
Transport distance (via truck) 482 km
Transport distance (via ship) 708 km
Transport distance (via rail) 0 km

Installation in the building (A5)

Name Value Unit
Installation cutting waste 6 %

Adhesive (water based acrylic) 0.3 kg/m?
Paper & cardboard packaging 0.0321 | kg/m?
Wood packaging 0.0467 | kg/m?
Plastic packaging (PE/PET/PS) 0.0016 | kg/m?
Paper/PE Composite packaging 0.0194 | kg/m?

Maintenance (B2)
This information refers to 1 year (RSL).

Name Value Unit
Maintenance cycle 156 Number/RSL
Water consumption 0.003 m3
Electricity consumption 0.037 MJ
Auxiliary (detergent) 0.044 kg

End of Life (C1-C4)

Name Value |Unit
Electricity consumption for deconstruction (C1) 0.09 | MJ
Transport distance (via truck) (C2) 25 | km
Energy recovery, (100%, scenario 0) 2.98 | kg
Recycling (100%, Scenario 1) 2.98 | kg
Landfilling (100%, Scenario 2) 2.98 | kg

Recovery, Reuse and or Recycling potentials (D), relevant
scenario information

Benefits for potential avoided burdens during treatment of
packaging materials, installation cuttings and/or auxiliaries
(from module A5) due to energy substitution of electricity and
thermal energy generation and/or material recycling under
European conditions are declared in module D (duplicated in
modules D/1 and D/2) and affects only the rate of primary
material (no secondary materials).

Loads and benefits beyond the product system boundary from
thermal treatment of the floor covering with benefits for potential
avoided burdens due to energy substitution of electricity and
thermal energy under European conditions is declared in
module D/1.

No benefits were accounted from the recycling EoL scenario
(C3/1) in module D/1.

No benefits were accounted from the landfill EoL scenario (C4)
in module D/2.

4 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR




HomerSHetitead

JAMES HALSTEAD PLC

LCA: Results

Results provided in this section are presented in relation to 1 m2 of the Polyflor Palettone PUR, Polyflor Prestige PUR or Polyflor
Pearlazzo PUR floor covering products. For the maintenance scenario (B2), the results refer to a period of one year. For the calculation
of impacts of module B2 for a certain service life, the impacts results for module B2 have to be multiplied by the estimated service life in
years.

For the End-of-Life (EoL) stage, three scenarios are considered:

» Scenario 0 (C3) considers 100% thermal treatment.
Corresponding loads & benefits beyond system
boundary are declared in Module D.

* Scenario 1 (C3/1) considers 100% recycling.
Corresponding loads & benefits beyond system
boundary are declared in Module D/1.

» Scenario 2 (C4) applies to 100% landfilling.
Corresponding loads & benefits beyond system
boundary are declared in Module D/2.

Benefits and
Construction . loads beyond
Product stage Use stage End of life stage Y
process stage the system
boundaries
>
o g [0} = 2 E’- S 2
S + = e %; > 8 g % 8 g g c + % L
o>| ¢ 5 |So 5 5 = = E |© Z SS| o 9 s b5 S
2l 2 |8 k2 |5 |8 |5 |5 |8 |2 |g8% |58 | 85| 2 | 2 | 8 | 8&%5
ES| s | S |§e | & | > | £ | & | & | e |85 |85 | 8|5 | & | & | Bgas
57| 5 S |22 | 2 s g | 2 |B c 8g| & | 2 | o ges’
i4 = (55 = x c |3 g o 8
Lo Q [a)
= o o =
A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 C3 C4 D
X X X X X MND X MNR | MNR | MNR | MND | MND X X X X X
Parameter| Unit A1-A3 A4 A5 B2 Cc1 Cc2 C3 C3/1 C4 D D1 D/2
GWP-total kg CO, eq | 5.75E+00 | 1.45E-01 | 1.06E+00 | 3.39E-02 | 8.14E-03 | 6.21E-03 | 3.21E+00 | 2.17E-01 | 4.42E-01 | -1E+00 | -4.24E-01 | -4.24E-01
GWP-fossil | kg CO, eq | 6.08E+00 | 1.45E-01 | 9.75E-01 | 3.37E-02 | 8.06E-03 | 6.2E-03 | 2.99E+00 0 2.25E-01 | -9.98E-01 | -4.22E-01 | -4.22E-01
g‘c’)‘g; - kg CO; eq | -3.29E-01 | -1.14E-07 | 8.52E-02 | 2.11E-04 | 7.01E-05 | 3.24E-07 | 2.18E-01 | 2.17E-01 | 2.17E-01 | -4.56E-03 | -1.93E-03 | -1.93E-03
GWP-luluc | kg CO, eq | 588E-03 | 1.42E-04 | 1.91E-03 | 1.99E-05 | 8.77E-07 | 7.16E-06 | 3.26E-04 0 1.86E-04 | -6.51E-05 | -2.76E-05 | -2.76E-05
OoDP kg (;ZC” 3.29E-11 | 1.75E-14 | 3.13E-12 | 7.26E-14 | 1.49E-13 | 7.72E-16 | 3.1E-12 0 3.79E-13 | -7.85E-12 | -3.33E-12 | -3.33E-12
AP mol H* eq | 1.76E-02 | 5.11E-04 | 1.73E-03 | 1.53E-04 | 1.72E-05 | 5.92E-06 | 1.08E-03 0 6.77E-04 | -1.25E-03 | -5.29E-04 | -5.29E-04
fErES'hwater kgPeq | 9.51E-05 | 6.18E-07 | 7.8E-06 | 1.24E-07 | 3.01E-08 | 3.1E-08 | 1.28E-06 0 4.34E-05 | -1.62E-06 | -6.87E-07 | -6.87E-07
EP-marine kgNeq | 6.19E-03 | 2.31E-04 | 5.9E-04 | 2.59E-05 | 4.12E-06 | 2.5E-06 | 3.74E-04 0 1.55E-04 | -3.65E-04 | -1.55E-04 | -1.55E-04
EP-terrestrial | mol Neq | 6.62E-02 | 2.54E-03 | 6.76E-03 | 2.82E-04 | 4.31E-05 | 2.81E-05 | 4.54E-03 0 1.7E-03 | -3.91E-03 | -1.65E-03 | -1.65E-03
POCP kg NQ’(;VOC 2.07E-02 | 6.04E-04 | 1.87E-03 | 9.1E-05 | 1.1E-05 | 5.73E-06 | 1.03E-03 0 4.92E-04 | -1.02E-03 | -4.3E-04 | -4.3E-04
ADPE kg Sbeq | 4.37E-06 | 9.43E-09 | 4.5E-07 | 6.61E-08 | 1.25E-09 | 4.13E-10 | 2.88E-08 0 5.97E-09 | -7.17E-08 | -3.04E-08 | -3.04E-08
ADPF MJ 1.47E+02 | 1.9E+00 | 1.56E+01 | 9.62E-01 | 1.7E-01 | 8.26E-02 | 6.89E+00 0 3.37E+00 | -1.84E+01 | -7.79E+00 | -7.79E+00
3
WDP m de";’)‘:ir\'l‘é;q 1.5E+00 | 7.37E-03 | 1.61E-01 | 1.1E-02 | 1.8E-03 | 3.67E-04 | 5.12E-01 0 -3.18E-03 | -9.51E-02 | -4.03E-02 | -4.03E-02

GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer; AP = Acidification potential of land and water; EP =
Eutrophication potential; POCP = Formation potential of tropospheric ozone photochemical oxidants; ADPE = Abiotic depletion potential for non-fossil
resources; ADPF = Abiotic depletion potential for fossil resources; WDP = Water (user) deprivation potential)

Parameter| Unit | A1-A3 A4 A5 B2 C1 C2 C3 C31 C4 D D/ D/2
PERE MJ 1.71E+01 | 7.21E-02 | 4.21E+00 | 8.05E-02 | 1.01E-01 | 3.53E-03 | 3.62E+00 0 3.04E-01 | -5.36E+00 | -2.27E+00 | -2.27E+00
PERM MJ 3.28E+00 0 -1.5E+00 0 0 0 -1.78E+00 | -1.78E+00 0 0 0 0
PERT MJ 2.04E+01 | 7.21E-02 | 2.71E+00 | 8.05E-02 | 1.01E-01 | 3.53E-03 | 1.84E+00 |-1.78E+00| 3.04E-01 | -5.36E+00 | -2.27E+00 | -2.27E+00
PENRE MJ 1.09E+02 | 2.04E+00 | 1.58E+01 | 9.62E-01 | 1.7E-01 | 8.87E-02 | 4.5E+01 0 3.37E+00 | -1.84E+01 | -7.8E+00 | -7.8E+00
PENRM MJ 3.83E+01 0 -2.16E-01 0 0 0 -3.81E+01 | -3.81E+01 0 0 0 0
PENRT MJ 1.48E+02 | 2.04E+00 | 1.56E+01 | 9.62E-01 | 1.7E-01 | 8.87E-02 | 6.89E+00 |-3.81E+01 | 3.37E+00 | -1.84E+01 | -7.8E+00 | -7.8E+00
SM kg 2.78E-02 0 1.67E-03 0 0 0 0 0 0 0 2.98E+00 0
RSF MJ 0 0 0 0 0 0 0 0 0 0 0 0
NRSF MJ 0 0 0 0 0 0 0 0 0 0 0 0

Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR

W



HomerSHetitead

JAMES HALSTEAD PLC

|FW | m3 |5.53E—02 2.44E-04 | 5.87E-03 | 2.73E-04 | 8.19E-05 | 1.21E-05 | 1.27E-02 0 3.32E-05 | -4.34E-03 | -1.84E-03 | -1.84E-03

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable primary
energy resources used as raw materials; PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable primary energy
excluding non-renewable primary energy resources used as raw materials; PENRM = Use of non-renewable primary energy resources used as raw
materials; PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of renewable secondary fuels;
NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh water

Parameter| Unit | A1-A3 A4 A5 B2 C1 C2 C3 c3n C4 D D/ D/2
HWD kg 1.54E-06 | 5.83E-12 | 1.87E-06 | 3.05E-06 0 2.55E-13 | 8.36E-11 0 2.84E-10 | -9.82E-10 | -4.13E-10 | -4.13E-10
NHWD kg 5.14E-01 | 1.67E-04 | 1.9E-01 | 3.6E-04 | 1.24E-04 | 7.72E-06 | 1.81E+00 0 3.27E+00 | -9.1E-03 | -3.85E-03 | -3.85E-03
RWD kg 3.6E-03 | 5.8E-06 | 3.23E-04 | 2.15E-05 | 2.7E-05 | 2.54E-07 | 3.44E-04 0 3.99E-05 | -1.42E-03 | -6.03E-04 | -6.03E-04
CRU kg 0 0 0 0 0 0 0 0 0 0 0 0
MFR kg 0 0 0 0 0 0 0 3.28E+00 0 0 0 0
MER kg 0 0 0 0 0 0 0 0 0 0 0 0
EEE MmJ 0 0 6.47E-01 0 0 0 4.09E+00 0 0 0 0 0
EET mJ 0 0 1.17E+00 0 0 0 7.38E+00 0 0 0 0 0

HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed; RWD = Radioactive waste disposed; CRU = Components for re-use;
MFR = Materials for recycling; MER = Materials for energy recovery; EEE = Exported electrical energy; EET = Exported thermal energy

Parameter| Unit A1-A3 A4 A5 B2 C1 C2 C3 C3/1 C4 D D/1 D/2
PM Ir?;fj:::e 2.95E-07 | 1.19E-08 | 2.61E-08 | 1.13E-09 | 1.45E-10 | 4.09E-11 | 2.11E-08 0 6.56E-09 | -1.06E-08 | -4.49E-09 | -4.49E-09
kBq U235
IR oq 3.73E-01 | 4.88E-04 | 3.82E-02 | 2.98E-03 | 4.49E-03 | 2.15E-05 | 5.21E-02 0 5.9E-03 | -2.37E-01 | -1E-01 -1E-01
ETP-fw CTUe | 6.13E+01 | 1.59E+00 | 6.02E+00 | 6.01E-01 | 4.72E-02 | 6.92E-02 | 3.73E+00 0 2.87E+00 | -2.57E+00 | -1.09E+00 | -1.09E+00
HTP-c CTUh | 1.93E-09 | 2.53E-11 | 2.17E-10 | 9.42E-12 | 2.5E-12 | 1.1E-12 | 1.56E-10 0 1.48E-10 | -2.04E-10 | -8.64E-11 | -8.64E-11
HTP-nc CTUh | 8.74E-08 | 5.74E-10 | 1.18E-08 | 2.03E-10 | 3.98E-11 | 2.56E-11 | 1.11E-08 0 1.18E-08 | -5.02E-09 | -2.12E-09 | -2.12E-09
sQP SQP | 6.29E+01 | 3.09E-01 | 1.02E+01 | 4.98E-02 | 6.66E-02 | 1.56E-02 | 1.64E+00 0 2.92E-01 | -3.52E+00 | -1.49E+00 | -1.49E+00

PM = Potential incidence of disease due to PM emissions; IR = Potential Human exposure efficiency relative to U235; ETP-fw = Potential comparative
Toxic Unit for ecosystems; HTP-c = Potential comparative Toxic Unit for humans (cancerogenic); HTP-nc = Potential comparative Toxic Unit for humans
(not cancerogenic); SQP = Potential soil quality index

Disclaimer 1 — for the indicator “Potential Human exposure efficiency relative to U235”. This impact category deals mainly with the
eventual impact of low-dose ionizing radiation on human health of the nuclear fuel cycle. It does not consider effects due to possible
nuclear accidents, occupational exposure or radioactive waste disposal in underground facilities. Potential ionizing radiation from the
soil, radon and from some construction materials is also not measured by this indicator.

Disclaimer 2 — for the indicators “abiotic depletion potential for non-fossil resources”, “abiotic depletion potential for fossil resources”,
“water (user) deprivation potential, deprivation-weighted water consumption”, “potential comparative toxic unit for ecosystems”,
“potential comparative toxic unit for humans — cancerogenic”, “Potential comparative toxic unit for humans - not cancerogenic”,
“potential soil quality index”. The results of this environmental impact indicator shall be used with care as the uncertainties on these
results are high as there is limited experience with the indicator.

This EPD was created using a software tool.

References

Standards Resilient and laminate floor coverings. Assessment of static
electrical propensity

EN 135011

Fire classification of construction products and building
elements. Classification using data from fire resistance and/or
smoke control tests, excluding ventilation services.

EN 13893
Resilient, laminate and textile floor coverings. Measurement of
dynamic coefficient of friction on dry floor surfaces.

EN 14041
Resilient, textile, laminate and modular multilayer floor
coverings. Essential characteristics.

EN 15804

Sustainability of construction works. Environmental product
declarations. Core rules for the product category of construction
products.

EN 1815

1ISO 10581
Resilient floor coverings — Homogeneous poly(vinyl chloride)
floor covering — Specifications

ISO 10874
Resilient, textile and laminate floor coverings. Classification

ISO 10425
Environmental labels and declarations - Type Ill environmental
declarations - Principles and procedures.

Further References

IBU 2021

Institut Bauen und Umwelt e.V.: General Instructions for the
EPD programme of Institut Bauen und Umwelt e.V., Version
2.0, Berlin: Institut Bauen und Umwelt e.V., 2021
www.ibu-epd.com

6 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR



HomerSHetitead

JAMES HALSTEAD PLC

PCR Part A

PCR - Part A: Calculation rules for the Life Cycle Assessment
and Requirements on the BackgroundReport, version 1.4,
Institut Bauen und Umwelt e.V., 15.04.2024.

PCR Part B
PCR - Part B:Requirements of the EPD for Floor coverings,
v10, Institut Bauen und Umwelt e.V., www.bau-umwelt.com,
01.08.2021.

Polyflor LCA tool
LCA tool for PVC floor coverings

LCA Tool No.: IBU-JHA-202401-LT1-EN
Developed by Sphera Solutions

Sphera LCA FE (GaBi ts)

GaBi ts dataset documentation for the software-system and
databases, LBP, University of Stuttgart and
thinkstep,Leinfelden-Echterdingen, 2023

(https://lwww.gabi software.com/support/gabi ).

Sphera LCA Calculator Software (GaBi Envision)

GaBi Envision 5.0 Sphera Solution GmbH, the LCA, EPD and
Ecodesign tool, http://www.gabisoftware.
com/international/software/gabi-envision/, 2023

7 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR



HomerSHetitead

JAMES HALSTEAD PLC

'(& ‘
Institut Bauen
und Umwelt eV,

Publisher

Institut Bauen und Umwelt e.V.
Hegelplatz 1

10117 Berlin

Germany

+49 (0)30 3087748-0
info@ibu-epd.com
www.ibu-epd.com

'(&l ‘
Institut Bauen
und Umwelt eV,

Programme holder

Institut Bauen und Umwelt e.V.
Hegelplatz 1

10117 Berlin

Germany

+49 (0)30 3087748- 0
info@ibu-epd.com
www.ibu-epd.com

O sphera

Author of the Life Cycle Assessment

Sphera Solutions GmbH
HauptstraBe 111- 113

70771 Leinfelden-Echterdingen
Germany

+49 711 341817-0
info@sphera.com
www.sphera.com

HomerSHetitead

JAMES HALSTEAD PLC

Owner of the Declaration

James Halstead PLC
Beechfield, Hollinhurst Rd. .
M261JN Whitefield, Manchester
United Kingdom

+44 (0) 161 767 2500
enquiries@jameshalstead.plc.uk
www.jameshalstead.com

8 Environmental Product Declaration - James Halstead plc - Polyflor Palettone PUR, Polyflor Prestige PUR and Polyflor Pearlazzo PUR



Palettone PUR

PRODUCT SPECIFICATION

1of4

@

POLYFLOR"

COVERING THE WORLD

Key Features

> Heavy-duty homogeneous vinyl flooring

with tonal chip decoration

v

v

\

v

Palette of 42 contemporary colours
Low cost, polish-free maintenance
Welded for seamless finish

Healthcare & education interiors

Product Format Standard Result
Gauge 1SO 24346 (EN 428) 2.0mm
Total Weight 1SO 23997 (EN 430) 2800g/m?
Finish PUR
. . . Quantity Coverage
Sheet & Tile Sizes Size Shades per Box per Box/Roll
Sheet 2mx 20m 42 - 40m?
Tile 608mm x 608mm + 12 14 5.17m?
Performance Requirements Standard Result
1S0 10581 Conforms
General Performance ASTMF1913 Conforms
ASTM F1700 Class |, Type A
Use Area 1SO 10874 (EN 685) 23,34,43
EN 13893 Class DS
DIN 51130 / DIN EN 16165 Ann. B R10
Slip Resistance
AS 4586 R10
ASTM D2047 SCOF 20.6
Binder Content 1SO 10581 Typel
Abrasion Resistance EN 660-2 Group T
EN13501-1 Class Bfl-S1
ASTME648 Class1
Reaction to Fire ASTME662 <450
CAN/ULC S102.2 FSV <300;SDV <500
AS1S0 9239-1 >8.0 kW/m?
Static Electrical Propensity EN 1815 <2.0kV Classified as ‘antistatic’

Residual Indentation

ASTM F970 (Modified)

=0.005” (750psi)

1SO 24343-1 <0.10mm
Castor Chair (continuous use) 1SO 4918 (EN 425) Suitable
Flexibility ASTM F137 Pass

Underfloor Heating

Suitable, max 27°C

Light Fastness

1IS0105-B02 (Method 3)

26




20of4

Resistance to Light ASTM F1515 AE = 8.0 - Meets

Resistance to Heat ASTM F1514 AE < 8.0 - Meets
Standard Result

BRE Green Guide A+ ENP 472

GreenTag LCA Rate Gold Plus GreenRate level A
Singapore Green Building Product (SGBP) Leader

Generic EN 15804 EPD Available
Recyclable 100%

Recycled Content 25%

REACH Compliant

Indoor Air Comfort Gold

Eurofins certified product

FloorScore Certified
Finnish M1 Classification Certified
AgBB/ABG Pass
VOC Emissions TVOC after 28 days <10pg/m?
Responsible Sourcing BES 6001 Excellent
Standard Result
Impact Sound Reduction 1S010140-3 4dB
Standard Result
Resistance to Chemicals 1ISO 26987 (EN 423) Good resistance
ASTMF925 Good resistance

Alco Hand Gels

Compatible for use with most commonly used alco-based hand gels

Steam Cleaning

Suitable for steam cleaning on a periodic basis

All Polyflor commercial sheet vinyl ranges provide a continuous, impervious and hygienic flooring solution which can be confidently cleaned in accordance with recommended

maintenance procedures and approved maintenance products. The implementation of an effective cleaning regime is the most important defence against infection. Reqular light

maintenance is more cost-effective than periodic heavy maintenance and more beneficial to the floor covering.

Standard

Result

Bacterial Resistance

1ISO 846 Part C

Does not favour growth

Clean Rooms

1S014644-1

Class 4

Ease of Radioactive Decontamination

© © © ca CE

* 7 s6s Y _SGY ” _SGS BS EN 14041 EN 14041

Polyflor Ltd. Head Office

1ISO 8690

Excellent

PO Box 3, Radcliffe New Road, Whitefield, Manchester, M45 7NR « Tel: +44 (0) 1617671111 « Email:info@polyflor.com « www.polyflor.com



3of4

Palettone PUR PDL\O(FLDF!”‘

COVERING THE WORLD

RANGE SHADES

W

G 5

Urban Air 8605 w/r 8605 Frosted Glass 8606  w/r8606 Dove Tail 8607 w/r8607 Pencil Lead 8608 w/r 8608 Deep Space 8609 w/r8609

NCS $1002-Y LRV 68 NCS $2002-G50Y LRV 53 NCS $3502-R LRV 38 NCS $ 6005-B20G LRV 18 NCS S7500-N LRV10
+ + + + +

v Ut £¢ ~',»,“‘z,“«
Weekend Sky 8611 w/r 8611 Faded Denim 8613 w/r 8613 Woodland Air 8615 w/r 8615 Harvest Air 8620 w/r 8620 Foundation 8622 w/r 8622
NCS S 0907-R90B LRV 64 NCS S 3030-R90B LRV 28 NCS $1005-G20Y LRV 70 NCS S1005-Y30R LRV 69 NCS S 2010-Y20R LRV 49
+ + + + +

A g ! B A i f F i .‘4
A Y . S
5 8 : o B it /% 3 G ., e
e ¥ 2 4 st : A \‘:\.'f». j i ¥
Earthenware 8641 w/r 9716 Hay Grain 8655 w/r9702 Morning Air 8610 w/r 8610 Painter’s Dream 8612 w/r 8612 Petrol 8614 w/r 8614
NCS 'S 2005-Y50R LRV 49 NCS S 1515-Y10R LRV 59 NCS $1002-B50G LRV 75 NCS $1020-R80B LRV 54 NCS S 6030-B10G LRV9
+ +

-

3y 7 =
s Ly i 3
f
X\ : ey
0y > e “ i
# 5 \ \ v e
i ; i B M
Pl e . "
S | y
e X .
Orchard Walk 8616 w/r 8616 Sunshine Meadow 8617 w/r 8617 English Garden 8618  w/rs8618 Natural Cotton 8621  w/rse21 China Clay 8623 w/r 8623
NCS $1020-G40Y LRV 60 NCS S 2050-G60Y LRV 38 NCS S 3050-G40Y LRV17 NCS S 1505-Y50R LRV 58 NCS S 4010-Y30R LRV 31

Freshly Ground 8624 w/r8624 Blossom Air 8625 w/r8625 Sugar Candy 8627 w/r 8627 Potters Wheel 8628  w/r8628 Regency Room 8629 w/r8629
NCS S 7005-Y20R LRV 12 NCSSS1002-R LRV 67 NCS 'S S2020-R LRV 42 NCS S 3010-R LRV 35 NCS S 6020-R40B LRV 10

w/r - Weld Rod LRV - Light Reflectance Value NCS - Natural Colour System #+ Tile: 2.0mm - 608mm x 608mm



Palettone PUR

New Dawn 8630
NCS $1070-Y10R

w/r 8630
LRV 49

Lunar Landscape 8637 w/r9718
NCS S 4000-N LRV 34

Pecan Crunch 8646
NCS S 3010-Y20R

w/r9723
LRV 39

Crisp Apple 8653
NCS S 2030-G30Y

w/r9708
LRV 40

Polyflor Ltd. Head Office

w/r - Weld Rod

Cayenne Heat 8633
NCS S 3060-Y60R

Quarrystone 8639
NCS S 5500-N

Buttered Corn 8656

NCS $2040-Y10R

w/r 8633
LRV 18

w/r8639
LRV 23

w/r9709
LRV 43

w/r3580
LRV 48

LRV - Light Reflectance Value

w/r 8634
LRV 10

Heritage Hall 8634
NCS S 5040-Y90R

Fired Ochre 8642
NCS S 4005-Y20R

w/r9724
LRV 29

Superior Sky 8648
NCS S 2020-R90B

Sapphire Star 8649
NCS S 5030-R90B

w/r9720
LRV 14

NCS - Natural Colour System

40f4

Linen Air 8635
NCS $1502-Y

Cool Blende 8636
NCS S 3005-R80B

w/r9703
LRV 62

w/r9704
LRV 43

Garden Sage 8643
NCS S 4005-G50Y

Dried Tarragon 8644 w/rge44
NCS S 6005-G50Y LRV 17

w/r 8643
LRV 32

Aqua Pura 8651 w/r9710
NCS S 3010-B LRV 41

Pennyroyal Mint 8652 w/r 9706

NCS §2020-B50G LRV 45

+ Tile:2.0mm - 608mm x 608mm

PO Box 3, Radcliffe New Road, Whitefield, Manchester, M45 7NR « Tel: +44 (0) 1617671111 « Email:info@polyflor.com « www.polyflor.com

© At the time of writing and publication of sheet, all the information is specified correctly. The company reserves the right to change the specifications of this product at any time without prior notice to third parties. V3



